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0).1 Each question carries one mark.
Fill in the blanks:

{1} Loss % _ IL 10D

Total expenditure in the current year
(i) Costofliving Index = « 100

(i) In aright angled triangle, the hypotenuse is the ..., side.
{iv) The figure formed by joining the mid points of the consceutive sides of a quadrilateral is ......c.o.......
{v) Difference of any two sides ol a triangle is ... than the third side.

(0.2 Each question carries two marks.
(i)  Anelectronic dealer buys a stereo for Rs, 425 and spends Rs. 15 on transporting it to the
shop. If he sells the radio for Rs. 550, find his profit percent.
(ii) Inatriangle POR it £ =45" £0 =70°, Determine the shortest and largest sides of the
triangle
(i) In a parallelogram PORS diagonals PR and 0% intersect at O and PR=4.8 ¢m and
Q5 =3 4cm. Find the measures of OR and OX.

0.3 Each question carries three marks.
(i) Meeta purchased a framed scenary for K5, 425 from a festival sale where a discount of 15%
was given. Find the market price of the scenary,
(i) In figure AB|| CD|| EF|| GH and AP = PO~ QH, if AC = 1.5 cm then find AG.
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(iii) Prove that in a parrallelogram. the diagonals bisect each other,
R
Vishal purchased a car with a marked price of Rs. 210000 at a discount of 5%. If sales tax is
charged at the rate of 10% then find the amount Vishal had to pay for purchasing the car.
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